= A
N = 0] &F AF S & AN A
20168 &= 20 A LESH REtE =Y
SN WBFsAD
M =0 AS OF
Sl SHAMEN (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SR 41,518,764 40,426,453 1,092,311
= 21,491,404
Jl 818,003
= 3,983,687
= 15,225,670
st &5 otd 1,601,216 1,759,795 A 158,579
= 391,217
= 198,265
= 1,011,734
SHABFA 161,870 322,860 A 160,990
= 54,862
= 8,887
= 98, 121
SHEM HAR2=EX 53,572 51,262 2,310
201 et | 30,172 37,862 AT7,690
01 AR 22l ] 28,372 37,322 A 8,950
1) Bt42H| 19,160
)= LMAISE A 2D MY
3,000 4005 1,200
2)EZZEXZAIEHE SO 02 20N M
Hl 20,0008 252 x23| 1,000
2)E2HE £ 2 zHIF QlAfH|
40,000 242 960
)RS ASsHN A2 AISAIE XM Clafb]
42 000& 508 2,100
2NL2EE L ADE QY|
300,000 x12J00 & 3,600
=sHEXZANEES 2HY &FH=2
9,500,000& 9,500
Q)= ANY EE S &40 HZd|
40,000 208 800
1)=&l 4.172
Q)= P A A=K O AH|
7,0002 x4H x1493| 4.172
Neg4g 5,040
s sE Y ABAYA HIMAOIG EHAM
= 70,000 24X 33| 5,040
02 =224 | 1,800 540 1,260
NE222 2 [MA 1,800
2Q)REE s 150,000& =120 & 1,800
202 044l 13,400 13,400 0
01 2U 01 b 13,400 13,400 0
1)=2 L4 O i 13,400
2)=sgAEM A2=X 2N Y
50,000& *4H =67 3| 13,400
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=}
Sl A

=X (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei Hns2Z
301 Lt A3 10,000 0 10,000
09 #ALAHI A2 10,000 0 10,000
NEsDNE #AFA 10,000,000 10,000
soeEs 44,436 44,436 0
< 8,887
= 35,549
307 ©I2t0| & 44,436 44,436 0
< 8,887
= 35,549
02 QIZHH A A B X 44,436 44,436 0
Ne=s0dess 44,436,000 44,436
[ 8,887
= 35,549
S0E 2] oA o 19,300 105, 100 85,800
= 19,300
301 LetE A2 19,300 105, 100 85,800
= 19,300
01 MBI 2 & E 462 19,300 105,100 85,800
NsZE 2BS0l0ls=4dE 2294 19,300,000 19,300
= 19,300
EWNAS s¢€09 AEE SHUS 9,000 9,000 0
301 Lt A3 9,000 9,000 0
09 #ALAHI A2 9,000 9,000 0
NEWDAS g0 Y= SZJWS
9,000,000% 9,000
sX olg2el XA 35,562 35,562 0
= 35,562
101 Q124 32,859 32,859 0
= 32,859
04 JIZHHM 22X SE 32,859 32,859 0
NSXOISAEHZTAF AHI (144 S9)
32,859,000 32,859
= 32,859
201 Y29 2,703 2,703 0
= 2,703
01 At 22l 2,703 2,703 0
NSXOISAEHZTA 2HHI (1404 S9)
2,703,0008 2,703
= 2,703
=90l BxX2 X2 1,439,346 1,436,935 2,411
= 336,355
< 189,378
= 913,613
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74,200

106,000
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106,000
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285,877
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85,763

408,396

Mo
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408,396

408,396,000

Mo A
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408,396
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85,763

408,396
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>
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0R
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oy

43,200

21,600
6,480
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2N HEZSYD

BH: S0 AS O
thel =ge BX23 XS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 15,120
307 glz2tol & 43,200 57,600 A 14,400
= 21,600
< 6,480
s 15,120
02 It M AHE X 43,200 57,600 A 14,400
NsEMEOS AAREME XI& 43,200,000 43,200
= 21,600
< 6,480
[ia 15,120
SEME0S g8 23 A& 11,750 11,182 568
2 4,878
< 2,162
s 4,710
201 Let2d] 4,726 4,726 0
2 2,363
< 709
[ia 1,654
03 &AL Z I 4,726 4,726 0
NsE08 AUlA XM s Xd  4,726,0008 4,726
2 2,363
< 709
s 1,654
307 glz2tol & 7,024 6,456 568
= 2,515
< 1,453
s 3,056
02 It M AHEE 7,024 6,456 568
NsEdEole s22 22 X 3,000,0008 3,000
< 1,000
s 2,000
NsEMENS I2s A 896,000& 896
= 560
< 101
s 235
N=sEXMEls dESMEE IHLX S
3,128,000 3,128
= 1,955
= 352
s 821
=g ZdH 25t 33,915,000 33,014,285 900,715
= 20,638,606
< 3,436,296
s 9,840,098
sHAEXNER 18,859,746 18,934,920 AT5,174
= 17,738,645
< 301,060
s 820,041




A 2EIsgu
B =9 M L
Sl SARFN K CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HEdsg =M 518,125 898,000 A 379,875
= 518,125
301 et a3 518,125 898,000 A 379,875
= 518,125
1MIIEBESS 518,125 898,000 A 379,875
NEsd=s=2N X 518, 125,000& 518,125
= 518,125
AAHAECIE=AH 3,842,000 3,842,000 0
= 3,073,600
< 230,520
e 537,880
301 L2 A= 3,842,000 3,842,000 0
= 3,073,600
< 230,520
e 537,880
11IIEEA S 3,842,000 3,842,000 0
NEA=AH=H AL bl 3,842,000,000& 3,842,000
= 3,073,600
= 230,520
s 537,880
HASEHHNEN 10,046,420 10,046,420 0
= 10,046,420
201 Let24d] 36,420 36,420 0
= 36,420
01 At 22l 36,420 36,420 0
1) R = AFY 22l ] 36,420,000 36,420
= 36,420
301 gEtE A= 10,010,000 10,010,000 0
= 10,010,000
MIIEBEAS 10,010,000 10,010,000 0
NEASXNEM 08 =3 10,010,000,000% 10,010,000
= 10,010,000
2= 4,070,500 4,066,500 4,000
= 4,070,500
201 2ot 2 Y| 6,500 2,500 4,000
= 6,500
01 At 22l 6,500 2,500 4,000
NeEsgSEHM 22l 6,500,000 6,500
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301 L2 A3 4,064,000 4,064,000 0
= 4,064,000
1MIIEESS 4,064,000 4,064,000 0
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= 4,064,000
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= 30,000
301 L2 LS 30,000 0 30,000
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DFTA DI B A =23 30,000,000& 30,000
= 30,000
AN 25 2 5,789,495 6,069,391 A 279,896
= 2,130,059
s 3,659,436
AEAE JUHNM DAY 1,407,210 2,157,460 A750,250
= 417,835
s 989,375
402 RIZEXt20l ™ 1,407,210 1,707,460 A 300,250
< 417,835
i 989,375
01 A TtEAEER 1,407,210 1,707,460 /300,250
NASHSA™A HYOAY 976,500,000 976,500
< 292,950
= 683,550
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s 244,625
NA2I M E X X 8,960,000 8,960
< 3,360
s 5,600
NoIsSA U8 ZAUXA 16,000, 000& 16,000
< 8,000
[ia 8,000
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< 8,400
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B =9 M L
Sl AZUREY D CEEEED
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NE222 2 A2 500
)RBEE U522 2,000 *250 4 500
202 04| 10,500 11,000 A 500
01 2L Y| 10,500 11,000 A500
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- _ _ RE]
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11 JIEtE A= 12,687 0 12,687
1)GAPs JF OHE A 2 AbH| 6,985,000& 6,985
= 4,890
o= 629
= 1,466
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o=t 1,711
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201 et 9| 1,800 1,800 0
01 AP 22| H| 1,800 1,800 0
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NRINSE B3 2%H| A 1,000, 000& 1,000
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